Consolidation work 20 Second Level ***

1.  6.5 + 8.4 + 11.9

2.  18.0 – 3.6 – 2.9

3.  637/700 simplify
4.  996/30 as a mixed number
5.  38 x 400

6.  0.068 x 1000

7.  72/100 simplify 
8.  6/8 of £16.64

9.  30% of 90

10.  Jeans cost £56 to buy. There is a 20% sale on today. How much will they cost? 

11.  55g = ____ Kg? 

12.  -20 + 7 

13.  -18 – 23

14.  Solve 7n – 4 = 59

15.  Order these from the smallest to the biggest: 0.77, 26/100, 43%, 5/6, 30%

16.  What are the factors of 63? 

17.  Add together 5381 and 2764

18.  Subtract 4327 from 4298

19.  Draw a shape which has four lines of symmetry. 

20.  If a diameter of a circle measures 23cm, what would the radius measure? 
